Apaoctnpotnta 2

a, b=20,1
a,b = Db,a
Apaotnpotnta 3

print ("IIéoco Ba (uyiloape av xaTolKOUoQue oOf KAmMOLO &AAO oupdvio ocduc; ™)
print ("Avax&Auyé 1O VI Tn ZeAnvn, Tov HALo kol tov miovihtn Agppoditn")
name = input ("IIHdg oce Aéve; ")

weight = float (input (name+" méoa kLA& elooi;"))

moon = welght/6

sun = weight * 27.07

venus = weight * 0.9

print ()

print (name+", ")

print ("To B&pog cou otn I'm eival",weight)

print ("To B&pog cou o1n ZeAnvn ei{val",moon)

print ("To B&pog cou oTtov HALOo eilval",sun)

print ("To B&pog cou oInv Appoditn eival",venus)

Apaotnplotnta 4
A.
import random
print ("Ipdypouua Kopdva 17 T'phupata™)
coin = random.randint (0,1)
if coin ==
print ("Kopdva")
else:
print ("Tpdupota™)
B.

print ("lIpbypouupa Kopdva 1 I'pdupoata™)

coilin = random.randint (0,1)
player = int (input ("Aitdrefe 1.Kopova 2. Tpdpupoto; "))
if coin ==
computer = "Kopdva"
else:

computer = "T'p&upota"



print ("Hpbe", computer)
if player == coin + 1:
print ("KépdiLoeg")
else:
print ("Exaoceg")

Apaotnplotnta 5
A.

secret = 4321
userpwd = int (input ("Adoce 1O oUVONuaTILkS cou"))
if secret == userpwd:
print ("KoAdg Hpbecg™)
else:
print ("Ipoon&bnoe Eava™)

B.

secret = 4321
while True:

userpwd = int (input ("Adoce 1O OoUVONuUTILkKS cou'))
if secret == userpwd:

print ("KoAdg npbec™)

break
else:

print ("Ilpoon&Bbnoe Eoava™)

Apaotnplétnta 6

import random

print ("IOpdypoupa Alxoto NopLopo")
coinl = random.randint (0, 1)

coin?2 = random.randint (0, 1)

while coinl == coiln2:

coinl random.randint (0, 1)

coin?2 = random.randint (0, 1)
if coinl == 0:

print ("Kopdva")
else:

print ("Tpduuota™)



Apaoctnpotnta 7

num = int (input ("Adoe évo opLOud"))
for i in range(l,11):
print (i, "*",num, "=",i*num)

Apaotnplotnta 8

msg = input ("Adoce 1O pHRvupa")
num = int (input ("IDéocec @opéc B&Aglg va 1O TUNOOW; "))
print (msg * num)

Apaotnpotnta 9
firstname = input ("AdocTte TO Svoud cac").strip()
lastname = input ("Adote 10 €miBetd ocag") .strip()
print (firstname[0]+"."+lastname[0])
Apaotnpéotnta 10
A.
phrase = input ("Adote pLa npdtaon™)
for ¢ in phrase:

print (c)
B.
phrase = input ("Adote piLa npdtaon™)
for ¢ in phrase:

if ¢ !l= " ":

print (c)

I.
phrase = input ("Adote pia npdtaon™)
rphrase = phrase[-1::-1]
for ¢ in rphrase:

print (c)
Apaoctnpéotnta 11
word = input ("Adote pia AEEN")
counter = 0
for ¢ in word:

if c.lower () in "aeniouw":

counter = counter + 1

print ("H AéEn mepLéxel",counter, "povihsvia™)



Apaoctnpléotnta 12

phrase = input ("Adote pLa mpdtaon™)
rphrase = phrase[-1::-1]
if phrase == rphrase:
print ("laA{vdpouo")
else:
print ("Asv gival noaiivdpouo™)

Apaotnpiotnta 13
phrase = input ("Adote piLa npdtaon™)
counter = 1
for ¢ in phrase:
if ¢c =" ":
counter = counter + 1

print ("H mpdtoaon éxel",counter,"Aéfe1g")

EVOAAXKT LKA :

phrase = input ("Adote pLa mpdtaon™)
counter = len(phrase.split())
print ("H mpdtoaon éxel",counter,"AéfeLg")

Apaotnpotnta 14

zero = [0] * 50
print (zero)

Apaotnplotnta 15

nums = [144, 610, 55, 34, 1597, 233]

print ("H tétoptn TLuR otn Alota eival",nums([3])
nums[-1] = 377

nums . append (89)

print ("To mAfboc¢ twv aplbudv eival",len (nums))
nums = sorted (nums)

print (nums)

Apaoctnplétnta 16
counter = 0
nums = []

while counter < 10:
num = int (input ("Adote &vov opLBud"))
if num not in nums:
nums . append (num)



counter = counter + 1
print (nums)

Apaotnpiotnta 17

years = [x for x in range(1904,1941,4)]
print (years)

Apaotnpotnta 18
rands = []
sums = []
total = 0

for i in range(5):
rands.append (random.randint (1, 20))
total = total + rands[i]
sums .append (total)

print (rands)

print (sums)

Apaotnpéotnta 19

def dices():
dicel = random.randint (1, 6)
dice2 = random.randint (1, 6)

return dicel,dice?2

d=20
for i in range(1000):
dl,d2 = dices/()
if dl == d2:
d=d+ 1
print ("llocootd dimAdv",d/10,"s")

Apaotnpléotnta 20

def uppersentence (phrase) :
wordlist = []
for ¢ in phrase:
if c.isupper():
wordlist.append(c)
return "".join (wordlist)

phrase = input ("Adote pia npdtaon™)
print (uppersentence (phrase))



Apaoctnpéotnta 21

def digitsproduct (num) :
strnum = str (num)
product = 1
for ¢ in strnum:
if ¢ !I= "0":
product = product * int (c)
return product

number = int (input ("Adote évov apLOud"))
print ("To vyivdéuevo 1Twv nolwv Tou eival",digitsproduct (number))

Apaotnplotnta 22

def goodpass (pwd) :
hasuppers = False
haslowers = False

hasdigits = False
if len(pwd) < 10:
return False
for ¢ in pwd:
if c.isupper():
hasuppers = True
elif c.islower () :

haslowers True
elif c.isdigit():
hasdigits = True

if (not hasuppers) or (not haslowers) or (not hasdigits):
return False
return True

while True:
password = input ("AdcTe TO OUVONUATLKO")
if (goodpass (password)) :
print ("Ioxupd ocuvOnuatLrd")
break
else:
print ("AdUvouo cuvOnuot LkO")

Apaoctnplotnta 23

dict e {"O":"pnéé\)","l":"é\)a","2":"61’10","3":"—[p1a","4":"-[éco-€pa",
"5" : "Hé\)-tsl’, "6" : "éEL", "7" : "EHTd", "8" : "OK-[d)", "9" : "S\)-\) Ld"}
phonenumber = input ("AdcTe TOV TNALQEWVLIKO apLBud")

for d in phonenumber:
print (dict[d], end=" ")



Apaoctnplétnta 24

inputfile = open ("TxtFiles/input.txt","r")
outputFile = open ("TxtFiles/output.txt","w")
linecounter = 1
for line in inputfile:
outputFile.write(str (linecounter)+". "+line)
linecounter = linecounter + 1
inputfile.close()
outputFile.close()

Apaotnplotnta 25

def drawPolygon (t,side,angles):
rot = 360 / angles
for i in range (angles):
t.forward (side)

t.left (rot)
Apaotnplotnta 26
angles = [a for a in range (0,361)]
sins = [math.sin(math.radians (angle)) for angle in angles]

plt.xticks (range (0,361,30))
plt.x1im (0, 360)
plt.grid(True)

plt.plot (angles, sins)
plt.show ()

Projects
1.

magicFile = open ("TxtFiles/magic.txt","r", encoding="utf-8")
lines = magicFile.readlines ()

magicFile.close ()

print ("Adoe 1tnv gpdinon ocou')

input ()

print ("H an&vinon esival")
print (random.choice (lines))

2.

def shuffleletters():

wordsfile = open ("TxtFiles/words.txt","r", encoding="utf-8")

words = wordsfile.readlines/()
wordsfile.close ()
word = random.choice (words)



wordletters = list (word)
randomletters = []

while len(wordletters) > O:
letter = random.choice (wordletters)
randomletters.append (letter)
wordletters.remove (letter)

return word, "".Jjoin(randomletters)

def anagramgame () :
secret, shuffled = shuffleletters/()
while True:
print (shuffled)

userword = input ("Awoce piLa AEEN") .upper ()
if userword == secret:

print ("To Bpnkeg")

break
else:

print ("Ovuncg. .llpoon&Bbnoe Eoava™)
3.

import random

def readwordsfromfile() :
f = open("greek.txt", encoding="utf-8")
words = []
for line in f:
words.append (line.strip () .upper())
f.close ()
return words

def showgiven (given) :
print ("Ta ypdupotoa nmou éxelg dooel eival:",end=" ")
for letter in given:
print (letter,end=" ")
print ()

def readletter (given):
guess = input ("EniAefe &va ypdupa") .upper ()
while guess in given:
print ("Exeitg fovaddoel TO yeduupa",guess)
guess = input ("EnoiAefe &va ypdupoa") .upper ()
return guess

def printsecret (word,given):
for letter in word:
if letter in given:
print (letter, end="
else:
print (" ",end="' ")

~

print ()



def game (words) :
found = 0
mistakes = 0
given = []
wordlimit = 5
totaltries = 8

word = random.choice (words)
while found < len(word) and mistakes < totaltries:

showgiven (given)
guess = readletter (given)

given.append (guess)
if not guess in word:

print ("To yp&uupa",guess, "dev undpxel otn A&&n")

mistakes = mistakes + 1

print ("Exelg axkdépa",totaltries - mistakes, "upoon&BeLecg")
else:

print ("To yp&upa",guess, "undpxel otn A&EN")

for letter in word:

if letter == guess:
found = found + 1

printsecret (word, given)

if found == len(word):
print ("To PBpikec")
return True
else:
print ("Se kpéuooco :-P")
print ("H puotixky Aé&n fTov",word)
return False

words = readwordsfromfile ()
game (words)

4.

import random

def getuserinput () :
numbers = []
while len (numbers) < 6:
answer = int (input ("AdoTte apLldud omd 1o 1 uéxplL To 49\n"))

if answer in numbers:



print ("Exete fovaddoel TOV aplOud", answer)
else:
numbers.append (answer)

return numbers

def getrandomnumbers () :
numbers = []
while len (numbers) < 6:
answer = random.randint (1,49)
if answer not in numbers:
numbers.append (answer)

return numbers

def countcommons (guess, luck):
counter = 0
for num in guess:
if num in luck:
counter = counter + 1

return counter

userNumbers = getuserinput ()
luckyNumbers = getrandomnumbers ()
counter = countcommons (userNumbers, luckyNumbers)

print ("OL optBuol mou xAnpodvovial e€ival:", luckyNumbers)

print ("IIANBGoC cwoTdV mpoPAéyewv:",counter)

5.
def maxfrequencyletter (text) :
text = text.lower ()
engletters = [lal, |b|, 'C', |d|, lel, |f|, lgl, |h|
lml, 'n|, lol, |p|, lql, 'r|, 'S', 't'] lul, 'V', 'W', 'X',
counter = [text.count (let) for let in engletters]
maxf = max (counter)

maxlet = engletters[counter.index (maxf) ]
return maxlet



6.

def caesarcipher (key,message) :
1

engletters — [lal, 'b', Cl, 'd', lel, 'f'r lgl, 'h', lil, 'j'r lkl,
lml, 'n', lol, 'p', lql, 'r', lSl, 't', lul, 'V', lwl, 'X', lyl,

cipher = []

message = message.lower ()

for let in message:
if let in engletters:

cipher.append(engletters| (engletters.index (let)+kevy) $len (engletters)])
p pp g g Yy g
else:

return

cipher.append(let)
"" . Join (cipher)

7.

def dartTarget (t,howmany) :
r = 20
colors = ["blue","green","red","yellow", "purple", "chocolate"]
for i in range (howmany) :

t.

t
t
t
t.
t
t
r

C

.C

-P
.r

f

.1
-P

olor (random.choice (colors))
ircle (r)
enup ()
ight (90)
orward (10)
eft (90)
endown ()
r + 10

11



